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[ PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank.
| Then mark the carrect choice on Your answer sheel,

1- That —======a=- car has none of the features, like power windows and steering, that make
maodern cars so great,
1) antiquated 2) superficial 3) aesthetic 4) hazardous

2-  With several agencies regulating the reports, it was difficult for the accused to argue
against its -———————-- i
1) infamy 2) relevance 3) veracity 4) anticipation

3-  Since Jack did not want a speeding ticket, he tried to ----———- the police officer by giving
her a compliment.
1) convict 2) appease 3) reinforce 4) escape

4-  Trudy studied harder, but there was only —--—---- improvement in her grades, so she
agreed to get a tutor.
1) marginal 2)commonplace  3) monotonous 4) unbearable

5-  Living apes—chimpanzees, gorillas, orangutans, gibbons and siamangs—and humans
share a constellation of ~—-—-en- that set them apart from other primates,
1) demands 2) certainties 3) disciplines 4) traits

6- Hawve you ever noticed how a coin at the bottom of a swimming pool seems to wobble?
This occurs because the water in the pool bends the path of light ——----- from the coin.
1) generated 2) recognized 3) reflected 4} differentiated

7-  Publicly available Web services (e.g. Google, InfoSeek, Northernlight and AltaVista)
------- various techniques to speed up and refine their searches.

1) specity 2) capture 3) determine 4) employ

8  Owing to the protests of the Dominicans and other regulars, the book was prohibited in
1760, but the second part was issued ——-------- in 1768.
1} meticulously 2) superstitiously  3) profoundly 4) recklessly

9-  While admissions offices do admit many students with similar profiles, a college is still a
-------- and diverse community.

1) mundane 2) controversial 3) anonymous 4) heterogeneous

10-  Despite the security, the thief's ability to break into the museum without being caught
remains an —--------- to the police.
1) infection 2) enigma 3) illusion 4) authorization

| PART B: Cloze Passage

| Directions: Read the following passage and decide which choice (1}, (2), (3}, or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Thunder is caused by lightning, which is essentially a stream of electrons flowing
between or within clouds or between a cloud and the ground. The air surrounding the

electron stream becomes (11) ---—--- hot—up to 50,000 degrees Fahrenheit— that it
forms a resonating tube of partial vacuum (12) ---------- the lightning’s path. The nearby
air rapidly expands and contracts, (13) --=---—-- the column vibrate like a tubular

drumhead (14) ——---——-- a tremendous crack. As the vibrations gradually die out, the
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sound echoes and reverberates, generating the rumbling (15) ---------- thunder, We can
hear the booms from great distances. 10 or more miles from the lightning that caused
them.

11- 1) very 2y s0 3) too 4) enough

12- 1) surrounding 2} surrounds 3) that surround 4} and surround

13- 1) that makes 2) and making 3) making 4) it makes

14- 1) produces 2)is produced by 3) and produce 4) and producing

15- 1)itis called 2)i1s called 3) we call 4) which called

PART C: Reading Comprehension

Directions: Read the following passage and answer the guestions by choosing the best choice
(1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

In the 17th century. the French government supported the development of the silk
industry in Lyon. New loom technology and dyeing techniques were developed that
produced fine-quality silks, surpassing the ltalian silks, which had dominated the 16th
century. The rococo period of the 17th century saw the fashion for very decorative
dresses. An offshoot of this was chinoiserie. where designs were inspired by the cultures
and techniques of the East. Patterns were asymmetric, many featuring oriental motifs,
and were exotic in their color combinations. Japanese kimonos became very popular and
were imported by the Dutch East India Company. This company also imported from
India a hand-printed cotton known as chintz. It was popular fabric as it was cheap. bright
and colorfast. The popularity of the fabric threatened the French and British textile
industries to such an extent that a ban on importing or wearing it was imposed. In the
early 1700s “bizarre silks™ were popular. The exotic plant shapes found on them were
the result of the influence of Eastern culture. They made way for lace motifs, then large-
scale luxurious florals in the 1730s, moving to smaller sprays of flowers. In 1759 the
ban on the cotton indiennes or chintz was lified and the French textile industry again
boomed. One factory in Jouy became famous for its printed cotton, the toile de Jouy.

16- What is the passage mainly about?
1) Silk industry in France
2) European textile industry
3) The rococo period of the 17th century
4) History of fabric designs in the 17th and 18th centuries
17- Which of the following statements is true?
1) The French silks were unmatched in the 16th century.
2) The French silks in the 17th century were higher in quality than the Italian silks.
3) The Italian silks in the 17th century were higher in quality than the French silks.
4) The 17th century Italian silks were the product of new loom technology and dyeing
technigues.
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18-

19-

21-

23-

24-

Which of the following is NOT a feature of chinoiserie?

1) Lace motifs 2) Oriental designs

3) Not symmetrical patterns 4) Unusual color combinations
What does the word “them” in line 12 refer to?

1) Shapes 2) Silks 3) Motifs 4) Florals
What does the word “lifted™ in line 15 mean?

1) Raised 2) Refined 3) Removed 4) Recovered

PASSAGE 2:

It is important to understand the language of color within design. The human eyve can
see around 350,000 colors, but cannot remember or recall them all. It is therefore
important to have a way to identify and communicate colors. Words are used to describe
and give reference to a type of color by association, for example, pillar-box red or blood
red. Words are also used to describe specific color tones, for example. cool colors have
a blue undertone, while warm colors have an orange or red undertone. A washed-out
color could be said to have little hue or to be weak. Pastel colors have white added to
them., making them pale, but not weak. We give colors subjective and symbolic
meanings. We apply our own individual characteristics and associations to color and
various cultures see color differently. In Europe the color blue is associated with a boy
and pink with a girl, white for a wedding and black for mourning. In India, red is
associated with fertility and is also used as a wedding color, while white is linked to
mourning. In most Asian cultures. yellow is the imperial color and has many of the same
cultural associations as purple does in the West. In China, red is symbolic of prosperity,
luck and celebration, while white is symbolic of mourning and death. There is a
psychology to color with scientific evidence to show that certain colors affect our mood.
There are colors that make us feel depressed and others that raise our spirits; some colors
make us feel warm and others cool. Blue is considered to be a calming hue, while black
and gray are seen to be depressing. These theories of color are interesting to consider,
but within fashion the choice of color used within a collection tends to be related to
artistic choice rather than psychology. Certain colors are in fashion one season and out
the next season regardless of whether they make us feel better or not.

Which of the following statements is NOT true?

1) Pastel colors are weak. 2) Warm colors have a red undertone.
3) Washed-out colors have little hue.  4) Cool colors have a blue undertone.
What does the word “them” in line 8 refer to?

1) Color tones 2) Characteristics ~ 3) Meanings 4) Pastel colors
Which of the following statements is true?

1) In China purple is considered as an imperial color.

2) In both China and India white is used for sad events.

3) In the West, vellow is considered as an imperial color.

4) In both China and India red is associated with sad events.

What does the word “prosperity” in line 14 mean?

1) Efficiency 2) Management 3) Speed 4) Success
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25-

26-

27-

28-

29-

Which of the following statements is true?

1} The choice of color in fashion is related to psychology.

2) The colors that have a calming effect are often in fashion.

3) The choice of color in fashion has to do with artistic issues.

4) Black and gray are depressing colors, so they are never in fashion.

PASSAGE 3:

Dves originally came from soil. plants. insects and animals. For example, cochineal was
obtained from the body of the female cochineal beetle and was used to produce red dye,
while Tyrian blue was produced from shellfish. Some dyes sourced from natural dyes
produce a subtle color, but their light and colorfastness is not as good as synthetic dyes.
Natural dyes use renewable sources. however. many need a huge amount of natural
products to produce a small amount of dye. Also many natural dyes need mordants to
fix the color and these can be harmful to the environment. There are two kinds of natural
dves, adjective and substantive. Adjective dyes need a mordant to help the cloth absorb
the dye. The dye must form strong chemical bonds with the cloth to set the color
permanently. The mordant enters deeply into the liber and when the dye is added the
dve and the mordant combine to form a color; since the mordant is thoroughly
embedded, so is the color. Substantive dyves do not need mordants during the dyeing
process to make the fabric light and wash fast. Indigo is the best known of these dyes.

Which of the following ¢an be understood from the passage?

1) Synthetic dyes depend on renewable sources.

2) The author prefers synthetic dyes to natural dyes.

3) The light and colorfastness of natural dyes is perfect.

4) The author is against synthetic dyes as they are harmful to the environment.
What does the word “many” in line 5 refer to?

1) Sources 2) Synthetic dves  3) Natural products 4) Natural dyes
According to the passage, dyes come from all the following EXCEPT ——
1) ash 2) insects 3) Plants 4) soil

Which of the following statements is NOT true?

1) Adjective dyes need a mordant.

2) Substantive dyes do not need a mordant.

3) Indigo is the best known example of adjective dves.

4) A mordant is needed to help the cloth set the color permanently.

What does the word “thoroughly™ in line 11 mean?

1) Rapidly 2) Gently 3) Gradually 4) Completely
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